	1. A waffle has a diameter of 13 inches. Calculate the area of a waffle in square mm.

(Should the answer be a big number or a small number? How do you know?)
Answer = 85,633
	2. Belgium fishes for salmon in the North Sea. A salmon eats 13 little fish each day. Each little fish has 1,250 scales. Four scales contains 3.3x107 cells, how many cells will 4 salmon eat?
Answer = 5.36x1011

	3. The blood alcohol limit for drivers in Belgium is 0.5 g of alcohol per liter of blood. 

Each alcoholic beverage has a volume of 35 mL and is 8% alcohol by volume. A Belgian of drinking age named Lars consumes 2 drinks. What will his blood alcohol level be (in g of alcohol per liter of blood)? Should he be driving? Alcohol’s density is approximately 0.78 g/mL. (Assume Lars has approximately 1.25 gallons of blood.)
Answer = 0.92
	4. A party in the city of Brussels requires 1,048,491 waffles. Each waffle is drenched in 16 mL of Vermont Maple Syrup, flown 3,449.5 miles from Montpelier. One leaf-shaped glass bottle of syrup contains exactly 95 mL of the sweet maple goodness. The jet from Montpelier to Brussels holds 527 crates, each containing 137 bottles of syrup. One mile on the jet requires 5.5 gallons of jet fuel, which costs $7.79 per gallon. How much will it cost to transport all the necessary Vermont Maple Syrup to Brussels?
Answer = 361,481

	5. The capital of Belgium is Brussels, home to 11,048,491 people. 17% of the population is a minor in school. Belgium uses the Euro, along with the rest of the Europe. If the city spends $1.1 x109 dollars on education each year, how many Euros per student does Belgium spend? (1 Euro = $1.128)
Note: I made most of this data up (
Answer = 519.20
	6. A Belgium computer programmer has a flashdrive that holds 16 terrabytes.
(a) How many gigabytes will his flash drive hold?

(b) How many megabytes will his flash drive hold?
Answers = 16,000 and 1.6x107


	7. The “Belgium” Syrup at IHOP is found in cylinder jars (with a radius of 2.75 millimeters). Each jar holds 2.25 ounces of sweet goodness. If the density of syrup is 3.88 g/cm3, what is the height (in meters) of a syrup jar?        Answer = 0.69
	8. The speed limit in Belgium is 120 km/hr. 

(a) Calculate the speed limit in miles per hour. 

(b) Calculate it in Angstroms per second.
Answers = 74.6, 3.33x1011


